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Details on the derivation of the following parameters, integral constants and functions are very lengthy and can 

be found elsewhere [Li 2008].  Only the final expressions for relevant parameters in the determination of 

adhesive stresses are provided in the following.   

A.1. Determination of the seven integral constants in the Eq. (7a) 

Submitting the shear stress into the boundary conditions, Eq. (7b), seven simultaneous equations written in terms 

of the seven constants, iC  ( =i 0 to 6), can be obtained as: 
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For the above linear systems of equations, the corresponding augmented matrix is [Derrick and Grossman 1987]: 
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The constants can be determined using Gauss elimination [Derrick and Grossman 

1987; Kreyszig 1993], and the final expressions are: 
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A.2. The functions ( )xGip
 ( =i 1 to 4) in the Eq. (8b) 
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A.3. The four constants iHC  ( =i 1 to 4) in the Eqs. (8a) and (8d) 
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A.4. Three constants iSC  ( =i  0 to 2) in the Eq. (10) 
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A.5. Four integral constants iSC  ( =i  3 to 6) in the Eq. (11) 
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